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The curve E is given by

y2 + y = x3 − x2 − 10 · x − 20
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Over Q there are only five solutions

{(5, 5), (16,−61), (16, 60), (5,−6), (∞,∞)} .



The curve E is given by

y2 + y = x3 − x2 − 10 · x − 20

The points PC are algebraic solutions over the field Q(θ) gener-
ated by a solution θ of

θ12 − 4 θ11 + 55 θ9 − 165 θ8 + 264 θ7

−341 θ6 + 330 θ5 − 165 θ4 − 55 θ3

+99 θ2 − 41 θ − 111 = 0 .



x(PC) = 2−1 · 5−3 · 11−10 · 19−1·
·(133792802077952089 θ11

−312848945005283368 θ10

−502878903201648831 θ9

+6475439902255323868 θ8

−11358894741986615604 θ7

+17292758289068725628 θ6

−18719462641364369973 θ5

+16016249446153991254 θ4

+982764516960529358 θ3

−2408156353187544234 θ2

+8344249326459947483 θ

+7914557261562811262) .


